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ADDITION AND SUBTRACTION 3 

 

1. Calculate:  
a. 782 + 65 
b. 390 +243 

 

2. Find the missing digits in the numbers below. 

      6487 

   + 6??9 

    ??08? 

     

3. Complete the statement. 

a. 86 +  = 165 

 

b. 46 +  = 98 

 

c. 184 –  = 120 

 

d.  – 73 = 568 
 

4. Peralta added three numbers and got a total of 6845. Two of the numbers are 2451 and 1024. 

What is the third number? 

5. Solve the following problem questions. 
 
a) A box contains 500 staples. If 125 were taken out, how many were left? 
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b. In a school, there are 325 boys and 256 girls. How many pupils are there in the school? 

 

c. A farmer sold 214 sheep. He had 59 left. How many sheep had the farmer at first? 

 

d. Nadia needs 245 chairs for his wedding. He already has 141 chairs. How many more chairs 
does he need? 
 

 

e.   A book has 1458 pages. If I read 684 pages, how many pages do I still have to read? 

 

f. John bought a radio for $150. He sold it for $200. Did John earn a profit or loss on the radio? 
And by how much? 

 

g. Valerie bought 12 sodas for $30.00 and sold all the sodas. She earned a profit of $15 on the 
sodas. How much money did she earn selling the 12 sodas? 
 

h. Sam brought a bicycle at the TY Bicycles Ltd. for $580. The store bought the bicycle for 
$650. Did the store make a profit or loss on the bicycle and by how much? 

 
 
 
 
 
 
 
 
 
 
 
 
 


